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Question Number : 1 Question Id : 5431077004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Catalogue is related to Library in the same way as Index is related to :

HETAT, T-Td W S WK Heftd & W ¥R oI, . F G B

Options:



chapters
| SET

books

preface
5 e

contents

Yol
4.

Question Number : 2 Question Id : 5431077005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

If SPIDER is written as PSDIRE in a certain code, how would COMMON be
written in that code ?

[ 99 @8 & SFgUR &N SPIDER @I PSDIRE fo@r o o 94 ®Ts &
FFAR COMMON i &H e SRET ?

Options:
1 OCCMMO

, OCMMNO
5 OCMOMN

4 OCMMON

Question Number : 3 Question Id : 5431077006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Nitin ranks eighteenth in a class of 49 students. What is his rank from the last ?

49 BT &1 Hem H " &1 @I TN 9§ 1831 2 | A 9 ST I &1 8 ?

Options:
13th

1 1841

19th
5 1941



32nd

Question Number : 4 Question Id : 5431077007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the tollowing will appear last in the Dictionary ?
= § 9 $F-91 e, IShE § 999 915 § T 7
Options:

1 Prozecute

" Prompt
5 Prostrate

i Prize

Question Number : 5 Question Id : 5431077008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In the series of 2, 6, 18, 54, .. ... what will be the 3th term ?
26,18 54 % %9 H Medl ug 1 § 9 @@ BN 7
Options:

1 4370

Question Number : 6 Question Id : 5431077009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion

Find out the miszing word from the following :
Giant : Dwarf : : Genius : ?

=1 § ¥ o ge @ Bic

[eme a1 ;"o ;7

Options:




Wicked
1 Efk il

Gentle
e B |

Idiot
3 9IS

Tiny
9gd BIC]

Question Number : 7 Question Id : 5431077010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

Amit said, "This girl is the wife of the grandson of my mother”. Who is Amit to
the girl ?
38T 7 ®EL IR dSd HY Hal & 4 @I Uoal 87 | AffT BT 99 dedl o E
ey 2 7
Options:

Father
| fomm

Grand Father
2. ?1 sl |

Husband

Father in law

4 L | Qj k

Question Number : 8 Question Id : 5431077011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

X introduces Y to someone saying, "He (Y) is the husband of the grand
daughter of the father of my father”. How iz Y related ta X ?

X, Y &1 Tl 9§ afisd &d g0 @eal 2, © 98 (Y) R Oar & fuar &1 ol &1 ufd
TI'Y, X9 fog yer dafeag g ?
Options:




Brother

x

1. "Iz

Son

Erl|

Brother in laws
3. E": EI'

Nephew

4; s

Question Number : 9 Question Id : 5431077012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

A and B are brothers. C and D are sisters. A's son iz D's brother. How i= B
related to C ?

AFNBYE ZEICARD T EI ASacT D W A £ B, C ¥ [F9 PR Haftd

&,

g7

Options:
Father

| o

Brother
> HIZ

Uncle
2 E21E2 ]

Sister
4 (‘-‘I |E_: E

Question Number : 10 Question Id : 5431077013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Classroom discipline can be maintained effectively by :
el ST 1 FATETel dxih o SARie fR o Wehar 2
Options:
Handling the cause of indiscipline strictly
, STETHENAl ® DRV & Foral 4 FIeHl




Providing a program which is according to interest of pupils
o BTH ] GF & ATAR BRHH U Bl

By giving corporal punishment
3 ININE € oA

By involving students on blackboard
4 FHUCE U fFEnRial @1 geEiar g

Question Number : 11 Question Id : 5431077014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

While delivering lecture, if there is some disturbance in the class then a teacher
should :

NI od HHY BEl § |8 9 8 W PEd 31
Options:

keep quite for a while and then go on
, IS X B Y wia & S A SR iR ST ger =@ney

leave the class
BET DT BTS o1 ANEY

z

punish those causing disturbance
o, STENTRY el drel BT BT Foll o1 A1fey

not bother of what is happening in the class
o P b B = = Bt = o 1 B e o O =1 s T = 1 AN

Question Number : 12 Question Id : 5431077015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The lowest level of learning in cognitive domain is :
GEIHTcHS e | JETH &1 =109 &Y © -

Options:

knowledge

S

1.

synthesis

o, WECTT



analysis
IGEREL
=1
comp rehension

4 T3

Question Number : 13 Question Id : 5431077016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

NIEPA is mainly concerned with :
THe &Eo 3o Ulo To H& WU 9 Halgd 2 :

Options:
Educational Practice

1 YIS T

Educational Supervision
o TI8rR TOdeu

Educational Planning and Administration
5 Y& Hare Td wEme

Educational Measurement
EF b HIY-H

Question Number : 14 Question Id : 5431077017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In which of the following stages the concept of sex has been developed in
children ?

-

T 89 g aaen ¥ 991 8 507 (U0 &7 9800y g 8T & 7
L f)

Options:
Infancy
, SreTaTeeE

Childhood

5 el [ o T2

Adplescence

3 '.fF.-EJr CIEES)



Adulthood

4. SiTgTere

Question Number : 15 Question Id : 5431077018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Play therapy is adopted in the education of children in order to :
aretep] 1 R H =l 2N BT HAET fHa W €
Options:

Make the educational process joyful
, oy A wftar ar=qel 81 |b

Make education more activity centered

5 gy f9mT affas fhar oisa a8l

Highlight the importance of play activity in education
o T[98 H 9o fpamen © Hexd Y UBI STl

To understand the inner motives and complexes of children

4 ATADI DI NG YR TAT SAfcATsi & FH

Question Number : 16 Question Id : 5431077019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

What a teacher should do to take care of genius students in his /her class ?
AT wE & ufaurene et 7 Swure & o et @ @ e Jniee ?

Options:
keep teaching slow

, TBweror B 1 Hmr Y@ =Ry

should not take special care of those students

teach very fast

dwil 9 TgMET AMey

provide enrichment programs

4 FEE THH! B AawRl] HYl ey



Question Number : 17 Question Id : 5431077020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Teaching style is primarily related with :
freror 9rell g wu 9§ ey ©
Options:

'How' of teaching

, T & ‘D g

"What' of teaching
. freror & ‘T o

"Why' of teaching
. R & i @

‘When' of teaching

4 T80 & HE H

Question Number : 18 Question Id : 5431077021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which quality is most important for students ?
Options:

Good Behaviour
1 AT Adald

Independent thinking
Obedience
g, TSP kK

Hard work
4. EE-J\.\__E-. q\ F_: 15

Question Number : 19 Question Id : 5431077022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Question Label ; Multiple Choice Guestion
Which statement is true for a cooperative class ?
AT e & o S=-11 ®e4 g8t 8 7

Options:
pupil compete among themselves
BT U F'.Eﬁ%l’ & W Afaee] w8

1

pupils are allowed to present their ideas and discuss freely with one another
. BT @ =Rl & Ui 921 Wa=arga® Uh gux 9 g9 B & gy

large amount of teacher guidance is required
- Hfere 7§ e e 31 aravadar

pupil work independently

4 O I WY Y H1 Hd &

Question Number : 20 Question Id : 5431077023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

India's first floating elementary school named Loktak' elementary floating
school was im‘tugurated is:

AR & WH O¥d gU ldad D WRIHE f9erera @1 9gHreH

Options:
Manipur

1™ TR

Agartala
o ARG

Sikkim

Question Number : 21 Question Id : 5431077024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

UNCRPD is related with :
?.ggﬁﬁoqﬁo\?ﬂﬁcﬂﬁu:\g’[o e = -
Options:



women only
1. f:fx.'a".:] qfﬁE-'{ ‘?_I:lll- q:‘[

Elen".lentarj_.' education

5 WTAfEE fITem 9

special need children
- fafime ravgeen arel diepl |

minorities only

Her JIJc 1 'x:
4 Tl H

Question Number : 22 Question Id : 5431077025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

National Education Day i= celebrated on the birth anniversary of :

ey e ey 9§ 9 e 9= G99 W= 990 96 €

Options:
Dr. A P.]J. Abdul Kalam

1 Flo o TT[O FI'I“J H:%(r thol 15

Maulana Abul Kalam Azad
o> AT HgA Bl HISG

Pd. Mahamana Madan Mohan Malviva
g o HETHl Had HIET dATqdid

Arjun Singh

4 T T

Question Number : 23 Question Id : 5431077026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Central Teacher Eligibility Test (CTET) is conductedin ...._.__.:
T d 9T O UKEn (CTET) Sefad 8l € :

Options:
19 Indian languagez

19 WG w9l §

22 Indian languages
= 22?‘ a'\-. E-:l HTE e':ﬁ f[



13 Indian languages
5 18 HReg A H

20 Indian languages

4 20 g AR H

Question Number : 24 Question Id : 5431077027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In July 2013 the Global Disability Summit washeldin ...._.. :
S[elTs 2018 H df¥as feeaivar Ry gWer ... H B3 o7

Options:
News Delhi

POREI ¢
— T,

1, T VRES

London
o A

Paris

5

= W

Question Number : 25 Question Id : 5431077028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Atal Tinkering Lab. under Atal Inmovation Mission has been introduced as a
culture of innovation at the level of -

Heol AarEN fAeF & Ed ocd TN dd & ... WY N FAER GG B
forr weifaa fovar Tam 8
Options:

Schools

IEEIRE

Colleges

GG
2.

University

5 [d% G



Deemed Universities

2 Tavafa=meT

Question Number : 26 Question Id : 5431077029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

In December, 2018 India's first Railway University was established at which
place?

feawr, 2018 § WA Veld FHATGIe] @1 =IO el gar off ?

Options:
Vadodara

: EEIERY

New Delhi
, % el

Hyderabad
3 o \ Z

Mumbai
g AR

Question Number : 27 Question Id : 5431077030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

'Samagra Shiksha Scheme 2018’ is related with :
"W fIET AT 2018 HaEEg o
Options:

School Education

1 F-ELE': ol :'-i ngf‘.'-ﬂ

Higher Education

5 F=d fITET

Inclusive Education
= HHATAIET 197

Vocational Education

4 ST e



Question Number : 28 Question Id : 5431077031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

MUSK stands for :
THo Jo THo o H [GWN 2
Options:

Madhyamik and Uttar Siksha Kosh
| FTEAEE Taq S {2 e

Madhyamik and Uchchatar Siksha Kosh
- HTEHe Uad e e @I

Madhyam and Unnati Siksha Kosh

5 TE0H aq S~fd e B

Madhyam and Uchchatar Siksha Kosh
HeOH Uaq Jeeiy (9T &

Question Number : 29 Question Id : 5431077032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which State has the highest Gross Enrolement Ratio in India ?
HING H o WSEl 1 Hebel AEIhS AU daiad 8 2

Options:
Kerala

i
s

1.

Andhra Pradesh

o ST ooy

Uttar Pradesh
5 SR oy

Tamil Nadu

p=

i GEIRITINY

Question Number : 30 Question Id : 5431077033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



LEAP stands for :
Tefoototio BT AT & -

Options:
Language Enhancement Acadeniic Programme

| AR T ThsiAd W

Leadership for Academicians Programme

o CITSYIST B USheAIeg—Td "M

Learning and Educating Academicians Programme
- L 5 oy 5
GIGE Ulg Ul U sHITEIHH HIHTH
3. Ly

Leadership Education and Assessment Programme

4 TSR U TS THHA< URIH

section B
Section Id : 54310795
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 70
Number of Questionsto be attempted: 70
Section Marks: 210
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 543107114
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5431077034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

; : ; lx— :
Domain of the real valued function f(x)=_| : of real variable is -

[ —2

ﬁﬁ—x

areffdd Held f(x)= @1 Wi, aride o) @ oY @ ¢

Options:

10



Question Number : 32 Question Id : 5431077035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

' 1 N : 2 s S
It cos6 = and m<B< JT then value of 4tan" 0 — 3cosec”8 is:

= ; S I’ = o 7 2
I cnzﬁz—; SR JI{H:TT,F[ 4tan” 06— 3cosec”0 DI HIH & :

Options:

; 12

Question Number : 33 Question Id : 5431077036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If tan A + cot A =4, then value of tan* A+ cot® Ais -
T tan A+ cotA=4 @ tan~A+cot™ A & 94 B
Options:

1 80

5 194

5 100

4 120

Question Number : 34 Question Id : 5431077037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



o+p

1

LA

If o and P are distinct roots of @ cos 8 + b sin 6 = ¢, then value of tan

o+ p
2

P A B

g o TUTP 1 THIP T acosO +bsin®=c® I € d tan

Options:
i
-||'h
b

Question Number : 35 Question Id : 5431077038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

1
\ o : e
It (x+iy)>=a+ib;x,y,a, be R, then value of —+i15 ;

it b
1
- Soam ; o o 1 A
g (x+iy)? =a+ib;x,y,a,be R AT —+'?—Jr &I A © -
i i
Options:
.']'_-.l —EJZ
1
5 3(.:]‘1 o+ E"E}
. -i(.?l - 373'}
i 4(n +b7 +ab)

Question Number : 36 Question Id : 5431077039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
=

is:

The argument of == :
1+

— i 5 3

HiEH HEn - = DI Agr(z) (IRHT) €

£

1+
Options:



|
=

.
9
B
an
7
3 <
5
i
4 =

Question Number : 37 Question Id : 5431077040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

Solutions of gquadratic equation 23" —4x+3=0is:

TEETT WA 237 —4x+3=0 &7 81 & ¢
Options:

i 1+4/10i

Question Number : 38 Question Id : 5431077041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Solutionof -11=4x—-3<131is:
FEHEI 11 <4y —3<13F B & ¢

Options:



4 ¥ € (==, 4]

Question Number : 39 Question Id : 5431077042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

How many numbers divisible by 5 and lying between 4000 and 5000 can be
tormed from the digits 4, 5, 6, 7 and 8 ? If the repitation are allow ?

AT 4000 37X 5000 & 4 H 5 ¥ fawifod g arell wemsl o weny o 2ef
W4,5,6, 70918 Y &1 &, Afq 90T &1 GG g3 © 7

Options:
; 120

Question Number : 40 Question Id : 5431077043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

It the coefficient of 2nd, 3rd and 4th terms in the expansion of (1+x)", ne N
are in A P, then value of i is :

(1+2)" & TOR | g8y, 9 0 919 Ui & [one dig JH=N 4001 (A P) € @
i T 9T JH BT ? (e N)

Options:
17

- 14

59

il |

Question Number : 41 Question Id : 5431077044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



q
Which term is independent of x, in the expansion ot | x—— | ?
\ 2 A

1 Y
ly—— | IR AFAT R R FMRARL7?
' 3x=)
Options:
1.3

> 4

3 D

Question Number : 42 Question Id : 5431077045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The sum of the series 1 + - : - . + o +;is:
%2 2x3 3Ix4 m(n+1)
b J. J. l J_ 5, 5 B
STofy e e gl +ot——— & GRT BT AE T
12 2x3 3x4 nn+1D
Options:
1 n—1
n—1
<
5 N
n
4 {nm+1)

Question Number : 43 Question Id : 5431077046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

__________________ is the science that attempts to produce machines that display
human like behaviour -

__________________ 7% fase & W1 99 99HT &7 Soed @Y @1 WA BRdT © W S
Iy 1 GBI Uald Rl & Wl 7% &Y § |

Options:




Nano Science
SRIRIET

Nano Technology
eRINCE I

Simulation

Artificial Intelligence (AI)
TR geferie

4.

Question Number : 44 Question Id : 5431077047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

If each term of an infinite G. P. is twice the sum of the terms following it, then
common ratio ' of G. P is :

Afe 3= Ysi GF B U A (G. P.) B TASD U5 SHD AN M Aol YA TS
@ TFT BT GAT 8, T 99 Al (G. P.) BT HaTId (common ratio) 'r' &1 A & :
Options:
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Cuestion Label - Multiple Choice Question

Which term of the sequence 72, 70, 68, 66, ...... is407?
39 SO 72,70, 68, 66, ...... BT HIA-A1 U5 408 ?
Options:

16

1.



z. 20

z 17

419
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If the linesax + 12y + 1 =0, bx + 13y + 1 = 0 and cx + 14y + 1 = 0 are concurrent
thena, b, c are in :

e WU ax + 12y + 1 =0, ba + 13y + 1 = 0 T2 cx + 14y + 1 = 0 Ush TgamR
(Gl @, dla, b, c® :

Options:

L FLB
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Equation of diameter of the circle 1 +y” —2x+4y =0 which passes through
the origin is :
TT 27 +y” — 20 +4y=0 T A & TG, O JoAfd=g | Towel 8 a7 ¢ 7
Options:
+ 2y =

; A +2y=0

x—2y=0
. I

.) L s
s X +y= 0
4 2x—y=0
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ouestion Label : Multiple Choice Question

The equation of the parabola whose focus is (3, 0) and directrixisx—y +1 =0

will be :
S TREA BT WG EFT R A (Bre6e) (3, 0) 7 ey -y +1=0%
Options:
T+ 2y =14+ 2y +17=0
') ) ] e
o XY +ay—14x +17 =0

1'2 +xi—1dx+17=0
o ;

4 ¥ .”1 —2xy+2y+17 =0
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question

A rod AB of length 15 cm rests in between two coordinates axes in such a way
that the end point A lies on x-axis and end point B lies on y-axes. A point P is
taken on the rod in such a way that AP = 6 cm. Find the locus of point P:

15 91 @S @ UF B AB G S @ 91 H 39 UPR v@ T 2 i A R e
N e 2 @ T y-oi R R 21 @5 P B AB WR 39 USR o T £ %
AP =694, fd5 P &1 fagur =g I

Options:

-

x -9—3{;1 =162

1437 +9y7 =324

2 2
e, o

3 36 81

e

piadiay

6 9
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Cuestion Label - Multiple Choice Question

The faci of the hyperbola 9x° — 16y~ =144 are -
ARG 9x” — 16y” = 144 F1 =IfHaT € -

Options:



1 (4, 0)

(0, +4)
2.
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uestion Label - Multiple Choice Cuestion

XOZ-plane divides the line joining the points (2, 3, 1) and (6, 7, 1) in the ratio:
XOZ-#9ad fag (2, 3, 1) 91 fa5 (6, 7, 1) I AT drell ¥&1 @I g S d

Options:
 3:8
5 2:7
s B
A
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Juestion Label - Multiple CThoice Cuestion

4+/2 —(cosx +sinx)

Find the value of 111'1'_Lr

=K l—sin2x
.

. 42 —(cosx +sinx)? 5
figin =Y e ) o E
—E l—sin2a
Options:
1. 51.-"5
2 i}

O

242
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Couesticon Label ;- Multiple Choice Question

Which of the tollowing is the largest unit of data storage ?
f=ferfigg § 9 $E-91 e TSN & a9 991 Shis & ¢

Options:
Gigabytes (GB)

't [l R
1 MIHIEIERSIET

Kilobyte (KB)

u P! 4
lehotldigc (dvdl)

2

Megabyte (MB)

o FTETEE (THE)

Terabyte (1B)
4. -t-“‘-.l'r-‘: 5 [ [:1, =] :I
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Cuestion Label - Multiple Choice Cuestion

: 2 3] : 3 ;
A= . } and f(x)=a"—4x+7,thenfl4)=2
| e
& v ;Y A _—
gt A= 5 AN f(x)=a"—4x+7,Tq1fla)=?
Options:
1 12}
L =4
-8 — LE}
s L 4 -3
0
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Cuestion Label : Multiple Choice Question
Hir—4 . Dexsd

The walue of P for which the function f(x)=<¢ - _. ~ 18
: _—l,‘i_+3£?.1 . l<x<?

continuous at every pn:mt of its domain, is :

3 N G | Sx-—-4 . O==x=] ; :

B'@ " AF & ¢ Had  f(x)=4  , : ol 39 U
‘ [4x~+3bx , 1l<x<?2

U A & @0 Hdd B ©
Options:

1. -1
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Cuestion Label : Multiple Choice Question

.|

» 1 1y
If y=sin" ‘ then —- =7
1+x2 dx
= e _'I L'I'L
g y=sin_ ‘ ar LY _
l+\_ LT"E.
Options:
1
1 V1=a
1—x°
.
5 1+2
1
14+2°



[

=]

1+x7
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Juestion Label - Multiple CThoice Cuestion

5 g e Ty
If 1Y =¢* Y then L= 7
X
s i dy
afe ¥ =" ¥, d —=£=7
4'?1-);
Options:
log,. x
1 1+log, x
log, x

5 (l+log.a ',11

X
- 1+log, x

A

sy (1+log, x)
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Cuestion Label - Multiple Choice Question

The 2's complement of a binary no. obtained by adding .......... to its 1's
complement :

Tdh S8 HFh & 2's HFHe Faed @ 60 99 36 @ 1's SFiidc 3 71 SiEl
Options:
0

1

10

12
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

. = a S = o i 2 oy 7 e .
If a=2i+k, b=i+j+k and ¢ =4i—3j+7k be three vectors, then find a

—% = e — —» — T —¥ —F
vector r whichsatisfies » x p = cx b and r.a =0:

- — S
ole d="Si4+k

o o AL
i

b=i+j+k TUT ¢ =4i—3j+7k A9 @iy AR@l &, o

=LY

L

= = e T )
h=c% b @M r.ag=0%8:

i

oy =3
Ay, Jddicdy ¢ ¥

&
AL r F ol
5 =1+2]+0bk
_.}_"\ bA _j:';.
5 T =i+6]+4k
4 T =—1+38+7k
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Find the length of perpendicular from the point (1, 2, 3) to the line
X =i By

3 g —9

i~

fawg (1,2, 3)% ¥4Er = : = = ;_.? Y Wi T o @ oTEE S By |

I B

Options:
6 units

;. 6 IR

9 units

5 9 EH

Question Number : 61 Question Id : 5431077064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

= : g ; ay 1 ;
Solution of initial value problem (1+ x° )—+2ay=———, y(0)=0 is:
dax (x°+1)
e ; 7 e'?{.l’ 1 . -1
HHEWT (1417 )—+2xy=———, y(0)=0 &I T B
dx (x=+1)

Options:

Y= tan L x
1.

-1
an i &
= -

_ls’+CEIS_l =0

v l—,LE_l,f:tan"i,x
4.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
I?
: 1
I [—1 dx=
T i+4x”

)

,thenais equal to:

w | A

. -

1 | . i
e | ——=dx==, Tla & AF & :
5 1+4x” 3

Options:

ke |

P | =

W= | A
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ouestion Label : Multiple Choice Question



The nthtermof theseries3+5+9+ 15+ 23 + ... is:
ST 3454+9+15+23+ ... Ol pdl Ug © ;

Options:
2. 2
1 (i Hn+o

o e+ -3
5 n—n-3
4 w443
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ouestion Label : Multiple Choice Question

L & =3 3 =1 2
If A=|5 0 2 |and B={4 2 5 |,thenthematricCwhenA+2C+B,is:
¥ =1 ¥ 2 B 3
i 3+ =3 3 —1 3
gfe A=|5 0 2 |daT B=|4 2 5| dI3WYge C, Wafh A+2C+B, 2 :
il & o 3
Options:
_l -3 E_
2 2
< 3
= T
2 2
I 2 3
jod & s
r $
1 1 B
2 2
-3 3 |
2 2
§ b &
)
s 2 =
(-5 3 -3
2 3 2
: L 2
-
I 1 2
Bk e




|'--.-'|I—

L

P | = =

3
1

P | = | b | 2

Iu|
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Cuestion Label : Multiple Choice Question

Converszion of binary number 101101, to hexadecimal is :

gTgel HaY 1011012 7 STSHTEA H SO & -
Options:

1. 3716

ED!_U
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Cuestion Label - Multiple Choice Cuestion

_ 3 17 o
If A:| o 2 | then A0 iz equal to:
L 1

it T & : 5
e A:i ; 1:|_ a1 ‘.:]_LDD ed[ET B :

Options:
, 100 A

4 299A

Question Number : 67 Question Id : 5431077070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



Question Label ; Multiple Choice Guestion
: 12 -
The value of sin 22— isequal to:

1° 4
gin22— &l HH1 &
i

Options:
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Cuestion Label : Multiple Choice Question

If sin® 8- 2cosh —:i =0, then the general value of 8 is :

afg Ei_nzﬁ—ltuzl-].—i=|]_ 1 6 &1 YD J1H € ¢

Options:

1

d
HITX

-

,_.
|

=1

nxxT—

|2

2nmt

ko | A

I“"Jlﬁ
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Cuestion Label : Multiple Choice Question

In a triangle ABC,ifa=2,b=1+43 and £ ¢ = 60°, then the length of side c is :

e

Uh PYI AT HH TG A =2 F=1+43 3N LH=60° @1 Yol | Pl oS 2 :



Options:

In'.:
T
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ouestion Label : Multiple Choice Question

px+q 1 3

It — = 4 -, then the values of p and g are :
(2x—3)° 2x—-3 (2x-3)°
= X +g 3 . 2 . -
gy X4 __ 1, 3 dipaRgdamE:
(2x—3)y 2x-3 (2x-3)
Options:
} =2J = D
1 F q
T =3.- — 2
o [ q
=2, 5=3
o | 1
||l':l 23' ,g;|‘ — {}
4.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

s | b2

| =

Real roots of the equation x> +x° —-2=0 are:
1

+x3-2=0 & I A © :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The area bounded by the parabola y* =4ax and its latus rectum is -

Qidold .”1 = 4ax TAT FH9S N9 H TN §Q BT T ETAh %f ;

Options:
4 5 ;
—a~ 5. units
2
1 S ad
—a* T e
3 ;
1.
3 3 i+
—a  =50. units
4 q
3 il r -,
Iﬂ'_ g7 ;L:Ll"’.E
2z
S 3 e Fio
EI’? '-'E_|_- ‘Ll_ﬂlt._;
S 2 r —
:I'-I' d7 ;-!l; LA
3~
3 5 t
—a~ =50, units
S q-
3 s st ik
—a- g IHC
4 S

Question Number : 73 Question Id : 5431077076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

The next iterative value of the root of y* —4=0 using the Newton-Raphson
method, if the initial guessis 3, is:

YCAIFET [T FT ST Fd 8 x°—4=0 & H& & IFTAT GARERT A4 @0

I, Afe URiWeS A 3 8

Options:
1. 1.5

5 2.067



5 D16y

4 3.000
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The equation of the tangent to the curve 1~ +3y—3 =0, which iz parallel to the

liney=4x—-51s:

CED ,‘.2+3_Ef—3={] T W9 Ol Xy =4x— 55 FAFME €, B THEI E
Options:

 +y-13=0

o —y+13=0

3 dx+y+13=0

" dy—y—-13=0
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question
2x—3

|.1'—'qu_1'2—25

Ve % o . . &
X1 3y aifere Rt B w0 forr o

|.1'—'qu.1‘2—2&

is written in partial fractions as :

Options:
1 i r+1
v+1 249
1 K| 2
1 r+1
> x+1 ,12—2
1 " r+1
5 x+1 42




Question Number : 76 Question Id : 5431077079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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ouestion Label : Multiple Choice Question

- -1

» ptEm R :

The value of f— dx, is:

0 1

4oy

l-.r..-'l_ i HIH &

"

1 =
an i .
2 142

Options:
27

1

-

3

1.

|

J| ]

2 13

-3

T

L
[
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Juestion Label - Multiple CThoice Cuestion

If f{x) = mx + c and f{0) = " (0) = 1, then f(2) will be equal to:
g fla) = mx + e TAA0) = f(0) = 1, T f(2) TER BT

Options:
1. 1

2 2
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Cuestion Label : Multiple Choice Question



r > e s
The valueof im—— is:
x—0 X

z £ Fé &
limm— ™l AMH 7
1—0 X

Options:
1 0

[

J
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Couesticon Label ;- Multiple Choice Question

Bax+b, if x>1
I filx)=< 11, if xr=1,1s a continuous function on & = 1, then the values of
: | !
|Bax—2b, if x<1

aand b are -

I'aqx—h, gfe x>1

g foy=+ 11, IR x=1, x=1T (® ¥dd Baq &, WaddRbd 7A 2
IS.-?.T—EE.?, gfe x<1

Options:

1 a=3,b=2

5 =2 =3

za=10b=3

4.:I=3I',E}=J.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The radius of the circle 21 +2y> —3x+5y—7=0is:
FI]'H 2,11+2Ef_?—3_1 +3I|;_F=[} i ﬁ]m-r —.;-“ul-

Options:



L
—+/ 10 umnit
4

Question Number : 81 Question Id : 5431077084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The frequency distribution of a variable X has highest frequency corresponding
to class interval A — B, the frequency of class intervals preceding and succeeding

to it are same. The mode of variable X in this situation is :

TH I¥ X & aNERG] 9cd 5 97 d=d A — B © HHe IN=ENaT Aftead g N

29 T NI & Udel T |lg H aRFERdl U W9 2 | 39 Refd # X & 956 B
Options:
A-B

I3




4B
2
4,
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Question Label : Multiple Choice Question

Temperatures of city A and city B on a particular day were measured as 20°C
and 40°C, respectively. Which of the following statement is not frue for city A
and B ?

el f7aa fod ¥EY A @R B & a19AM SR 20°C iR 40°C &7 74, 7= 4 ¥
- T TER AR B ® fov wE@T 7@ T Y
Options:

Average temperature was 30°C

afted argET 30°C o

1

City B was twice hotter than city A
> TEY B TEY A | oA TH o

The temperature of city A was less than city B
2 918V A &I TIUAT e B H &F o1

The difference between temperatures of two cities was 20°C
” qIHl 9T8%] & argeEl § et 20°C o1
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Juestion Label - Multiple Choice Cuestion

The mean monthly salary of male employees in a tactory was Rs. 5,200 and that
of females was Rs. 4,200, However, the mean monthly szalary of all the
employees was Rs. 5,000. The ratio of number of male mnpl_nj.-'ees. tt_:: the number
of female employees in the factory is :

U Bhael @& Jo¥ PIAAI B AT HiES ddq o 5,200 3N HfEwRl @ 6 g8 %o
4,200 o, wETs WA HEET & oy oifed A1e@ 989 o 5,000 o411 Hagl § goW
Dol BT Al HAG § FUN €

Options:

; 92:50

2_—_&:1

3_3:2
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Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Question

If mean, median and standard deviation of a set of obzervations are 40, 35 and 4
respectively, then Karl Pearson's coefticient of skewness is :

afe HHSI & U W= &1 JEd, HegS] AN AFEG [dHad HH 40, 35 3R 4 2
ol el (006 & Hghadl Uis € :

Options:
095
1.

%]
~]
Ly
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If probability distribution of conditional random variable ¥ | X is

afe wicEiEd argkoe @ Y| X &1 uifdedr g4

b

y
Y _| 1;1-_!; |

i & 5 c L
(L+ )

Jltl.::{(”,r;.‘.}z _,._|_|"}D

then regression equation of Y on X is :

2 Al Y W™ X & THEA GH5Y0 §

Options:

, Y=2(1+3)
> ¥Y=1-x

z Y=x-1

4 Y=1+2
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ouestion Label : Multiple Choice Question

If (X, Y) takes values betiveen zero and one in case of variables X and Y with
coefficient of correlation 0. 7, then what will be coefficient correlation betiveen

U=10+3Xand V=10-3Y?

A

ARG X AR Y SR & A9 (X, Y) T IR U6 & 99 & & AR 99 19 Heddy

ol 0.7 81, dl U=10+3X 3R V=10-3Y & 4/ HeHdg [0l 41 801 7
Options:
o
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A square matrix [A] is lower triangular if :

s 99 Higad [A] =1 B 2 afg

Options:

1 E-I'_;';-' = D,)’ =

r?l.'l: =D_,E > ,l'
1 + D,n’ = ,|'

a; D,_I." >
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Let xy, Xp,........., X5 are random samples drawn from X ~ N, 16} such that

N x; =60 and ﬁ?f =X > = 5. Which of the fallowing intervals will be a

—ii=1

95% confidence interval for p ?

i - 2 , L. 1 s % 75
M o T8 Xy, X2, Xo5, X ~ N(, 16) F 39 PR & TGiod = © ﬁﬁz__le — 60
P T, = " I J— . —
3 ﬂz " (v —%)? =5 | 9 SRt H ¥ B u & 95% favard o=we 86 7
Options:

] (—1.00, 4.00)
169,451
5 A8, )

(0.44, 4.36)

(0.33, 3.97)
4.
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E2Y -X+3=0is regression line Y on X and its angle with regression line X on

Y is 45°, then coefficient of correlation betwween X and Y will be -

AT Y WX & TSI NET 2Y — X + 3 = 0 1 X G2 Y & TSI &G § B0

45° B @1 X 9iR Y & 919 Weded Ui S :
Options:

B
V2

iz
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In a normal distribution first moment about 40 is 20 and fourth moment about

60 is 43. The mean and standard deviation of the distribution are -

Tdh UHEF g & ol 40 & |Uer HF amgy) 20 F, 997 60 @ Hret =gel g

48 2| dcA & AT AR 9F& fd9a © ¢
Options:

60 and 4 respectively

160?&'4@:

40 and 4 respectively

, 40 AN 4 THA:

40 and 2 respectively

Smaﬁ?zm:

60 and 2 respectively

4 60 3 2 FHH:
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A and B are two events with A = B and P(B) < 1. It A" denote compliment of A

and p, = P(A" U BY), p, = P(A" n BY) and p, = P(A®| B) then :

AcCBARPB) <1de A N B Sl geAl 21 A% A° A & TR& & MiEe Bl

& 3R p, = P(A°U B, p, = P(A°n BY) &R p, = P(A°|B) 7T :
Options:
1 P1 SP.SPs
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X denote the sample mean of a random sample of size 1 drawn from normal

population N(i, 62). The INCONSISTENT estimator of [ is :

X YEMEFI ded N(u, o) 9 Moe U n oareR & f&dl agies gfdey & afaed

AT @l MfdE & 81 p &1 AT AHeAD 8

Options:

nx +10
o N+ 50

472X +101n+71
5 4n® +8197—750

7n2X + 100 + 747
0112 +181—175

4.

Question Number : 93 Question Id : 5431077096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

It is proposed to test the null hypothesiz Hp:6=2 against the alternative
hypothesis Hy:6=1 on the basis of a single observation X from the population
having probability density function f(x | B)=OBexp(x8)forx>0and >0 If

the critical region is X > 1, the probability of committing Tvpe-1 error is :

qIfiehal Bca Hel, f(x|0) = 0 exp (x 8), x > 0 3R 0 > 0 & forw v@" arel Jafte

9 [ Udhd WV & HER WX I URGUT Hy:0=2 @ ddiedd H,:0=1 &

fI%g T TErdd € | e wifde &3 X>1 8 a7 Uor-1 I 8 & 9idea €



Options:

T
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The following system of equationshas ._.._........._. solution(s) :

THTEY0T b HeEefag 9ot 5 HETEE £

x+y=2
bi+6y=12

Options:
infinite

two
ERC ]

1 que

4 :j;{'sl-d :{I ]
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The statistic defined as the distance between 70th sample percentile and 30th
sample percentile gives us the information concerning :

70d ufdee] wndie AN 30d 9iaey e & Hey o¥l &1 Hifd uR9ifbg ufdewy =4

5

___________ $ X H AT TSI Bl g |

Options:



Central tendency

) T AR

Dispersion

Skevwness

=3 ERED

Furto=is

g ol
=3
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Which of the following is most useful for checking the equal variance across
groups in analy=is of variance ?

goel fagereor 8§ 9 9 @ A RV % Wi @ fon AeEaag 9 e
Options:

side-by-side box plots, showing roughly equally sized boxes for each group.
TH-UTE % Gfifad, Jo@ a7 & (ol Wfela: EF A@R & Hlod Jged
Y BY |

Histograms, suggesting nearly normal distributions of data in each group.
amad =3, U 9 H Hles) & T YA ded] Bl dférd $xd g1

2.
Summary statistics, suggesting that the means of each group are roughly
equal.

. AR Fiferd, o @ gu fh URie @ & ARg Rled: 9 E |

Summary statistics, suggesting roughly equal ranges for each group.
4 HIRIET \IRDH], Ued a9 @& (70 WIea: |AH UNEY ofigm &vd gy |
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The random variable (x, y) has the joint prabability density function

. [k.‘r{ x—y), for0<x<2and —x<y<x
flx,y)= <|

o, elsewhere

Argfe® W (1, y) FgTF WASAT ¥9cd Bl

_ (kv(x—y), Dexe2dW—x<y<r o ~
Fep={7E=9) - 1< % o
| ==

Which of the following expressions give the correct value of k ?
o el e AT S e s Lk T G A e & 7

Bl .—l_ s S = A
52 k —juj_i_\.{.‘t y)dy dx

g e 0 w2

g 3 =I f x(x—yydxdy+| | x(x—y)drdy
D _I.' ] " —2«- —.I.l'

Choose your answer from the following codes :

FO SR freferrad wel § 9 gy

Options:

Both S and P are true.
, S ¥R P g | ¥

S is true but P is false.
S W 2 W P o B

S is false but P is true.
- S HHH g U P g 2|

Both S and P are false.
S 3R P S o9 & |
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Consider the events A and B such that P(A) = 1, P(B
The random variables X and Y are defined as:
HeAll A 3N B &1 $9 e A4S 6 P(A) = ¥, PB|A) = 14 @R P(A|B) = ¥ |
qlgfod T X v Y
Xw)=1ifwe A
Xw)=1Tcwe A
= (0, othervise
= 0, 3=

A)=Y and P(A|B) = Y.

and
IRy
Y(w)=1ifwe B
Yw)i=1, Acwe B
=0, otherwise
= 0, I==01
Which of the following is true ?
o wifa ofvafa 21 f=fafaa § 9 &9 w981 8 7
Options:
PX=0Nn¥Y=0)=5h/8

1.

, P(X=0nY=1)=1/8
S P(X=1nY=0)=3/8

4P[P€l=lr“|Y=l}=lf’“S
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Which of the tollowing CANNOT be probability generating function ?
fr=ferfiigg § 9 &9 wifsdraas B 8 8l 9&dl & 7
Options:

-3 —1
= j_:'.
19 [£—5)
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uestion Label - Multiple Choice Cuestion

X and Y are independently identically distributed geometric random variables,
each with parameter p. The conditional distribution of X given X + Y = n (finite
integer) will be :

X 2R Y Wad ®U U 9HEua: dicd, Uohed UTEd p did, Wit agiked @) 81 X
@] Hiasftd dcd fear T 2 & X+ Y =n BT :
Options:

Binomial with parameter (n, p)

, T (n, p) el gfdque dcH

Binomial with parameter (n, 1 - p)

UM (n, 1 —p) el glade 9

Uniform with parameter n + 1

U i+ 1 9] 95959 94

Uniform with parameter n

UiEel n didd] 95%Y g



